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119% WA RT
(1) 19BZERBL (47516 4F)

FE R 1A 2A|3H4A | 5A|6H|7A| 8A| 9H |10 |11A|12H | &3
US 35 1 1 4 3 1 1 1 2 2 16
R = 135 140 126 109 112 131 137 193] 140 99 118| 157 1, 597
R B 1 1 2 1 1 2 1 9
Z Do K E 0
S I o [ 9 13 41 14 23 23 15 8 31 24 34 23 258
W o 5 BR 7 9 16 28 26 9 11 8 35 40 20 40 249
B & 9 4 10 3 7 7 9 16 6 14 7 14 106
R - HEEW 11 17 15 13 10 12 12 17 22 15 21 12 177
O 11 7 14 9 5 13 12 17 13 8 5 9 123
&5t 183 191 226 177 186 196 198| 261| 248 202| 209 258 2,535
1HY47=h o>
= g 5.9 6.8 73| 59| 60| 65| 6.4 84| 83| 6.5 7.0 8.3 6.9
H [ZofofE) k. Mk TERKE] BNEEhEd,
N = = He Y
(2) BFESEBDIIIBEZEWRIN
%ﬁ%‘lj 2020 2021 2022 2023 2024
(FFn 2 42) (4 Fn 3 48) (FFn 4 42) (4Fn 5 482) (4Fn 6 42)
K b 35 41 37 31 16
R = 1,498 1, 397 1, 352 1, 425 1, 597
R B 4 10 9 4 9
ZF Do K= 12 11 8 2 0
WO I 202 227 197 239 258
R 147 198 136 184 249
A 68 59 106 121 106
R - HEW 88 83 149 193 177
O 245 158 376 424 123
o2t 2, 299 2,184 2,370 2,623 2,535
1HY47=v o>
= . 6.3 6.0 6.5 7.2 6.9
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H [ZofofE) k. Mk TERKE] BNEEhEd,

23




(3) MEAfEE K2

R 24 A 34F A 44 AF B4R A 6 4R

Egg”ﬁﬁﬁ”ﬁﬁf Egg”ﬁﬁﬁ’ﬁﬁf Egﬁ”ﬁﬁ?’?ﬁf %é%’gﬁilgﬁf %é%”ﬁﬁ?’gﬁf

Mg Haa| 43 27 162.8%| 64 36 |56.3%| 55 30 |54.5%| 65 27 |41.5%| 77 32 |[41.6%
SRy 1 1 100% 5 4 80% 6 4 166.7%| 8 6 75. 0% 13 6 |46.2%
1k 1fn 35 20 57% 62 43 169.4%| 58 41 170.7%| 59 38 |64.4%| 87 55 |[63. 2%
YeHEEIRT 1 1 100% 1 1 100% 1 1 100% 0 0 0% 0 0 0%
Ees 0 0 0% 0 0 0% 2 1 50% 0 0 0% 1 0 0%
Z DAy 7 5 71% 8 7 |87.5%| 27 18 166.7%| 34 20 [58.8%| 68 43 163. 2%
AaEt 87 54 162.1%| 140 91 |65.0% 149 95 |63.8%| 166 91 |54.8%| 246 136 [55. 3%
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S 64 1A 2H3H|[4A|5A|6A | 7A | 8A| 9A |10 |11H |12H | &
1454 14 11 12 15 14 19 22 10 9 7 2 3] 138
T P T
N Ao 7 8 7 12 9 14 16 2 0 0 0 0 75
gi 119 2 2 2 1 1 2 2 3 3 3 0 2 23
Eﬁ YINE 4 1 3 2 4 2 4 4 6 4 2 1 37
BT A A 1 0 0 0 0 1 0 1 0 0 0 0 3
FRE SN 2 4 Fn 3 4 5N 4 4 Fn 5 4R F0 6 4 &5t
(G 146 135 165 225 138 809
P 2R
A 71 60 80 124 75 410
= WGt
2 119 25 26 45 38 23 157
E% I ERS 49 49 39 62 37 236
BIEUT 1A - 1 0 1 1 3 6
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